AN AN
WEERBEE & — BRELONTHRE R F (5 Fn 4 42)5%)
[HEH A AD]
R E
TEH R H R4. 5. 19 R4.7.13 R4.9. 12 R4.12. 8 R5. 1. 19 R5. 3. 15 FH i fiE
A (m’N/h) 0.19 0. 20 0.10 0.17 0.12 0.26 ¥1
= FW T A (g/m’N) <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 0.08
() YAk & (mg/m’N) 1 1 <1 2 <1 6 200
EE 2 (ppm) 88 81 80 88 100 66 180
kgl (ng/m’N) - 32.0 8.8 - 10 - 50
W E
TEH WA H R4. 5. 20 R4.7.13 R4.8.18 | R4.10.13 | R4.12.8 R5.3.7 R 5 fiE
,.L%Mt% (m’N/h) 0.13 0.12 0.11 0.09 0.12 0.13 %1
9 Effi T A (g/m°N) <0.001 <0.001 <0.001 <0.001 <0. 001 <0. 001 0.08
(f22) iﬁﬂﬂk? (mg/m°N) 1 1 2 2 4 4 200
e 2 (ppm) 38 95 78 38 81 95 180
AKER (ug/m3N) - 1.9 - 2.8 1.5 — 50
W E
TEH R H R4. 5. 20 R4.6.9 R4.9.12 | R4.11.17 | R5.1.19 R5. 3. 15 R i fiE
,.L%Mt% (m’N/h) 0.15 0. 04 0.07 0. 04 0.05 0.17 %1
3B T A (g/m°N) <0.001 <0.001 <0.001 <0.001 <0. 001 <0. 001 0.08
(f22) iﬁﬂﬂk? (mg/m°N) 1 1 1 A 1 3 200
e 2 (ppm) 79 71 36 36 89 86 180
AKER (ug/m3N) 1.6 21.0 - 7.7 — 50
X1 Rt sr b O B R E RS £V E N@m‘é (B #233~40)
[HEH A 2@
W E
TEH WA H R4.9.13 R4.9. 14 R4.9. 15 R 5 fiE
15 Y fi 52 0. 00032 — —
QPSS | &2 A 4% ¥ (ng-TEQ/m’N) — 0. 00004 — 1
3y f o2 — — 0. 0000
[HEHAD]
W E
TEH R H R4. 4. 21 R4. 5. 10 R4. 6. 14 R4.7.12 R4.8.9 R4.9.13 FH ) fiE
KA AP 7.4 7.6 7.1 7.2 7.1 7.1 5.8~8.6
EPFRIRE TR AR (mg/L) 0.9 2.1 2 4 5.2 3 25
it K (LR FR R TR (mg/L) 0.6 0.5 <0.5 0.9 1.3 1.2 —
Tl e (mg/L) 1 <1 <1 1.0 1 el 60
PN ({8 /cm®) <30 <30 <30 <30 <30 <30 3000
W E
TEH R H R4.10.11 | R4.11.8 | R4.12.13 | R5.1.10 R5. 2. 14 R5.3.7 R 5 fiE
KA A PR 7.3 7.5 7.4 7.3 7.6 7.5 5.8~8.6
} AP R TR A (mg/L) 3.6 2 3.3 2.5 2.2 1.6 25
st K LR E R E (mg/L) 1.2 1.0 1.7 1.2 1.7 1.8 —
Tl e (mg/L) <1 <1 1 1 1 1 60
KBRS (@ /cn®) <30 <30 <30 <30 <30 <30 3000
[HEHAD]
W E
TEH WA H R4. 5. 10 R4.8.9 R4.9. 14 R4.11.8 R5. 2. 14 FH i fiE
I AR OO EY  (mg/L) | <0.003 <0. 003 — <0. 003 <0. 003 0.1
KO DAY (mg/L) <0.01 <0.01 — <0.01 <0. 01 0.1
ook T AEEW (mg/L) <0. 1 <0. 1 — <0. 1 <0. 1 1
& TARAKEEAY  (mg/L)| <0.0005 | <0.0005 — <0.0005 | <0.0005 R
KaKER (mg/L) | <0.0005 <0. 0005 — <0. 0005 <0. 0005 0. 005
A F XM (pg-TEQ/L) — — 0. 0005 — — 10




WP BREE & > & — BRES TR R (R0 4 L)

[z - 12 CAQD)
SCBERIIR Je OMEREIR (2 O\ TR, FHETRLAEEZ LTV AH 720, il T 8 A,

[z - 12 AOD)

W E
HE HEFA | R4.9.13 R4.9. 14 R4.9. 15 HilfE
1 P REEIIK 0. 0000079 — —
2 AR BERIIK — 0. 00053 — 3
3 FEREENK | ok - — — 0.0018
TR R HAFF M (ng-TEQ/g) 351 — —
2 5P EEIK — 0.28 — 3
3 TP EEIK — — 0.25
[FER]
HEFEAH
IEH\ R4 1117 | #IE
%ﬂﬁiﬁgﬁig B <10 10




